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PART-1
BASED ON NUMBER
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TYPE OF ANALOGY

»Analogy can be categorized into following two types -
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CLASSIFICATION OF WORD ANALOGY

Word Analogy again can be reclassified into following two
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NUMBER ANALOGY
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Q.1. Select the option that is related to the third number
In the same way as the second number is related to the
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Q.2 . Select the option that is related to the third number
In the same way as the second number is related to the
first number. 39 [d6hcT & TIT Y ST AT TE&IAT J 34T JhR
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Q.3 . Select the option that is related to the third number
In the same way as the second number is related to the
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Q.4 . Select the option that is related to the third number

In the same way as the second number is related to the
first number. 39 [d6hcT & TIT Y ST AT TE&IAT J 34T JhR
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